13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WOOD JAMB WITH
5/16" X 1-1/2" LAG SCREWS

2" STEEL ROLLER WITH
7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL.

20 GAGE END STILES

CENTER HINGES M._v COLUMNS

CENTER STILES (3) COLUMNS

OPTIONAL
LONG PANEL
EMBOSSES

Y WITH WASHERS.

\

9 STRUTS

3" 18GA WIDE
(SEE DETAIL A)
LOCK OR

DRAWBAR 5k
%mmZoxI/
REQUIRED

SEE DETAIL o‘@my
|

12 GAGE GALV. STEEL TOP BRACKET
WITH 14 GAGE ROLLER HOLDER
WITH 4 FASTENERS
SEE DETAIL D

STRUT JUST BELOW
TOP BRACKET.

1/4” X 1/2" LONG
CARRIAGE 'BOLT & NUT

13GA. END CAP

-—— 2" 13 GAGE GALV. STEEL
VERTICAL TRACK

(4) SELF TAPPING
- o»\|womm<<w

~N\S

DETAIL

"
e
8 & 9" (SINGLE CAR)

CENTER HINGES (2) COLUMNS
CENTER STILES (4) COLUMNS

14 GAGE GALV. STEEL END
HINGES ATTACHED WITH (6)
SCREWS, TYP. (SEE DETAIL C).

\wmm DETAIL E

e

DETAIL B

STRUT ON UPPER PART
OF SECTION ON HINGE
LEAF. (SEE DETALL C).

OPENING HEIGHT
(NOT OVER
DOOR HEIGHT)

9 STRUTS

3" 18GA WIDE
(SEE DETAIL A)

LOCK OR
DRAWBAR y b b : B
o_ummhoml/

REQUIRED

SEE DETAIL C

7'
4 SECTIONS

L]

T 2.75" L

DETAIL A

3" 1BGA WIDE STRUT

1/2" POLYSTYRENE
INSULATION
STANDARD FOR
MODEL 735

—]
*_
=
10" (SINGLE CAR)

STRUT ON LOWER
PART OF SECTION
ABOVE HINGE LEAF.
(SEE DETALL C).

I

TYP. LOWER STRUT mm_u.|/

20 GAGE END STILES — FASTENED

WITH TOG—L-LOCS TO PANEL.
USE END CAP OVER END STILES.
(SEE DETAIL B)

TRACK JAMB BRACKET
[5 BRACKETS PER SIDE |

—

29"
PANEL GALV AND

GALVANIZED STEEL STRUT.

D) ATTACHED WITH 1/4” X 3/4”

2 LONG HEX HEAD SELF
DRILLING SCREWS.

“ (2 PER VERTICAL STILE)
—3/8" POLYSTYRENE INSULATION

USE TWO EXTRA SELF DRILLING

SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE, END
STILE & RAIL AS SHOWN.

\
\
/
/

TYPICAL EACH END HINGE:

STOP MOLDING NAILED EVERY 6"
6—D TYPE NAIL MIN.

PREPAINTED STEEL
235 GAGE MIN.

xm \l_l ~— 22 I

W‘O_ﬁ._o%r FOR MOD. 724, 730,

750, 755, 765, 426.
r STRUT MOUNTED IN CENTER OF SECTION

2" STEEL ROLLERS
10 BALL LONG STEM

TYP. UPPER STRUT mm_w.\

DETAIL C

STRUT OVER BOTTOM BRACKET.

13 GAGE GALV. STEEL BOTTOM BRACKET
ATTACHED WITH 3 FASTENERS (PLUS 1
WITH STRUT).

SECTION A—A

NOTE: ALL NON-DESCRIPTIVE FASTENERS SHOWN TO BE
1/4"-20 X 5/8" HEX BOLTS & NUTS OR
1/4" X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

-

14 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—-L—LOCS OR RIVETS.

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE

FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2"
LAG SCREWS & WASHERS. SEE DETAIL E.

PREPARATION OF JAMBS BY OTHERS. SEE WINDSOR

DWG. 99—A-061 FOR MORE INFO.

SECTION B-B

ANSTN

20 GAGE GALV. w._.mmM CENTER STILE.

LOCKING COLLAR
1/2” FROM HINGE

FL 15080

P.0. BOX 8915
LITTLE ROCK, AR
72219-8915
(501) 562-1872

John E Scates PE
3121 FAIRGATE DR.
Carrallton, TX 75007
TX—PE 56308—-F—2203
FL-PE-51737

(972) 492-9500

Professional Engineer’s seal
provided only for verification of
windload construction details.

P.S.F. TABLE
DESIGN PRESSURE TEST PRESSURE
POSITIVE | NEGATIVE | POSITIVE | NEGATIVE

+37.8 |—42.9
+37.8 |—42.9
+57.8 |—42.9

MODELS:

DOOR SIZE
WIDTH HEIGHT

8'—0"[7'-0"
@wlox Vvlogv
s_O~|o: Vvlogv

TESTED PER ANSI/DASMA 108—05 (STATIC PRESSURE) & TAS 201/203-94 (IMPACT) PLUS
ANSI/DASMA 115-05 (IMPACT).

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES

730/735/724/750/755/426

PART NAME:
WINDLOAD RESIDENTIAL PAN DOORS

W3 C & W6 B
8 X 7,9 X 7,10 X 7
NEXT LEVEL DATE:
6/09,/10
DRN. BY
BNB

64 35 TOLERANCE

+56.7

FRAC.t 1/64”
DEC. £ .015
ANG. £ 1°

SCALE
NONE

DWG. NQ.
99-B-096
SHT 1 OF 4

12/15/11
DATE

NEW LOGO/ENG. STAMP
CHANGE

IS THE RESPONSIBILITY OF OTHERS. PLOT SCALE




CENTER HINGES wuv COLUMNS
CENTER STILES (7)° COLUMNS OPTIONAL

LONG PANEL
13 GAGE MIN. GALV. STEEL 2" STEEL ROLLER WITH 9 STRUTS EMBOSSES
@ TRACK SPLICE OR FLAG BRACKET. 7/16” DIA. LONG STEM. e . : . -

FASTEN TO WOOD JAMB WITH -~ TIRE: STEEL 10 BALL. 3" 18CA WIDE
5/16" X 1—1/2" LAG SCREWS ! (SEE DETAIL A)

/
S WITH WASHERS. Ng

\
/‘_M GAGE GALV. STEEL TOP BRACKET
1/4" X 1/2" LONG WITH 14 GAGE ROLLER HOLDER

CARRIAGE BOLT & NUT WITH 4 FASTENERS
2” 13 GAGE GALV. STEEL SEE DETAIL D

VERTICAL TRACK &

V.
STRUT JUST BELOW LOCK OR 4 SECTIONS
\l {(4) SELF TAPFING TOP BRACKET. DRAWBAR

OPERATOR
— SCREWS REQUIRED

~N\

SEE DETAL ¢ _._ _._-
DETAIL D : : : : : :
\Mmm DETAIL E 14 GAGE GALV. STEEL END

18" (DOUBLE CAR
HINGES ATTACHED WITH (6) ( )
||_ _II 1.257 SCREWS, TYP. (SEE DETAIL C).

CENTER HINGES (3) COLUMNS
CENTER STILES Amy COLUMNS  /~ DoRe ANEL

EMBOSSES
A p=
DPENING HEIGHT

; 9 STRUTS . . j 1= . . . 7 i
(NOT OVER STRUT ON UPPER PART = o ReA wWinE
DOOR HEIGHT) i

3" 1BGA WIDE
OF SECTION ON HINGE
LEAF. (SEE DETAL C). (SEE DETAL A)

L ﬂ.
T 275" L °(9) LOCK OR ! ! TIONS

DRAWBAR B B ;
DETAIL A SN i 1}
3" 18GA WIDE STRUT

1/2" POLYSTYRENE IE.
INSULATION SEE DETAIL C

—]
STANDARD FOR STRUT ON LOWER

| |
MODEL 735 ' PART OF SECTION : . - -
ABOVE HINGE LEAF. =7

(SEE DETAIL C). 16" (DOUBLE CAR)

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4” X 3/4"

TRACK JAMB BRACKET 3 LONG HEX HEAD SELF . TYP. LOWER STRUT mm_,..|/.
20 GAGE END STILES — FASTENED 5 BRACKETS PER SIDE i DRILLING SCREWS. USE TWO EXTRA SELF DRILLING
WITH TOG—L—LOCS TO PANEL. _ _ p (2 PER VERTICAL STILE)
ST

USE END CAP OVER END STILES. SCREWS THROUGH TOP AND

(SEE DETAIL B) 217 7 N BOTTOM LEAF QF HINGE, END
PANEL GALV AND i _Iu\m POLYSTYRENE INSULATION STILE & RAIL AS SHOWN.
ol OD_”v kw__wo__m_/_\m_.ZQ___“_mo EVERY m PREPAINTED STEEL 1E OPTIONAL FOR MQD. 724, 730, TYPICAL EACH END HINGE:

25 GAGE MIN. 9" 750, 735, 765, 426,

1k STRUT MOUNTED IN CENTER OF SECTION
: 72 2” STEEL mo_._.mmm\
STRUT OVER BOTTOM BRACKET. % 170 BALL LONG STEM
13 GAGE GALV. STEEL BOTTOM BRACKET , B
14 GAGE GALV. STEEL CENTER HINGE :

20 GAGE GALV. mqmm_qn CENTER &TILE. — L4 M \
ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG-L-LOCS OR RIVETS. ATTACHED WITH 3 FASTENERS (PLUS 1 WITH STRUT). TYP. UPPER STRUT REF

13 GAGE GALV. STEEL TRACK BRACKETS. SEE ABOVE . SECTION A—A : ] LOCKING oormb__Mm
FOR SPACING. FASTEN TO WOOD JAMBS WITH 5/16" X 1-1/2 NOTE: ALL NON—DESCRIPTVE FASTENERS SHOWN T0 BE —_— > DETAIL C 1/2" FROM HINGE
LAG SCREWS & WASHERS. SEE DETAIL E. +ALL NON-DESCRIPTNE FASTENERS SHOWN =R

PREPARATION OF JAMBS BY OTHERS. SEE WINDSOR / / L 15080

DWG. 99-A—061 FOR MORE INFO. 1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS.

SECTION B-B

S FTABLE P.0. BOX 8915
DJCR SIZE DESIGN PRESSURE TEST PRESSURE

LITTLE ROCK, AR
WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE | NEGATNVE %mﬂ _..m>_wmnm%m Wm. S!:’“Q’ DOOR | 722705075

(501) 562-1872
16°—0"[77-0"|+30.8 |-37.66 Camolton, X T ooa03 .

18'-0"]77-0"]+30.8 |-37.66[ +46.2[ —56.49 (578 18 oo MOOES 930,/735,/724/750/755/426
Professional Engineer's seal

provided only for verification of .
windload construction details. PART NAME:

WINDLOAD RESIDENTIAL PAN DOORS

TOLERANCE| W2 C & W4 B

e 1 oa 10 X 7, 18 X 7

TESTED PER ANSI/DASMA 10805 (STATIC PRESSURE) & TAS 201/203-94 (IMPACT) PLUS pec. = 015 | NEXT LEVEL DATE: DWG. NO.

ANSI/DASMA 11505 (IMPACT). 12715777 INEW 0G0 ENG. STAYP ANG. £ 1 6/09/10 | 99-B-096
. SCALE [ PLOT SCALE | DRN. BY

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS. L TNGE SCALE e SHT 2 OF 4




©

13 GAGE MIN. GALV. STEEL
TRACK SPLICE OR FLAG BRACKET.
FASTEN TO WQOD JAMB WITH
5/16" X 1-1/2" LAG SCREWS

\

3 WITH WASHERS.

2" STEEL ROLLER WITH
\\ 7/16" DIA. LONG STEM.
TIRE: STEEL 10 BALL.

1/4" X 1/2" LONG
CARRIAGE ‘BOLT & NUT

WITH 14 GAGE ROLLER HOLDER
WITH 4 FASTENERS

—— 2" 13 GAGE GALV. STEEL
VERTICAL TRACK

SEE DETAIL E

(NOT OVER
DOOR HEIGHT)

s\|§ SELF TAPPING

(e} O

SCREWS

— N\

DETAIL D

_'Awm

I

SEE DETAIL D

STRUT JUST BELOW
TOP BRACKET.

/I GAGE GALV. STEEL END

HINGES ATTACHED WITH (6)

SCREWS, TYP. (SEE DETAL C).

T 2.75" |q_

DETAIL A

”»
3" 1BGA WIDE STRUT STRUT ON UFPPER PART

OF SECTION ON HINGE
LEAF. (SEE DETAL C).

DETAIL E g
TRACK JAMB BRACKET

6 BRACKETS PER m_om_ STRUT ON LOWER

20 GAGE END STILES - FASTENED

WITH TOG-L—-LOCS TO PANEL.

USE END CAP OVER END STILES.
(SEE DETAIL B)

STOF MOLDING NAILED EVERY 6"

6—D TYFE NAIL MIN.

PART OF SECTION
ABQVE HINGE LEAF.
(SEE DETAL C).

GALVANIZED STEEL STRUT.
ATTACHED WITH 1/4" X 3/47
LONG HEX HEAD SELF
DRILLING SCREWS.

14 GAGE GALV. STEEL CENTER HINGE
ATTACHED WITH 4 FASTENERS.

13 GAGE GALV. STEEL TRACK BRACKETS.

DWG. 99-A-061 FOR MORE INFQ.

SECTION B-B

20 GAGE GALV. w._.mL” CENTER STILE.
ATTACHED WITH TOG—L-LOCS OR RIVETS.

SEE ABOVE
FOR SPACING. FASTEN TO WQOD JAMBS WITH S/16” X 1-1/2"
LAG SCREWS & WASHERS. SEE DETAIL E.

PREPARATION OF JAMBS BY CTHERS. SEE WINDSOR

(2 PER VERTICAL STILE)

19 1/47

PANEL GALV AND
PREPAINTED STEEL

25 GAGE MIN.

1-3/8" POLYSTYRENE INSULATION
OPTIONAL FOR MODEL 7390,

STRUT MOUNTED IN CENTER OF SECTION

STRUT OVER BOTTOM BRACKET.
13 GAGE GALV. STEEL BOTTOM BRACKET

SECTION _A—A

NOTE: ALL NON—DESCRIPTIVE FASTENERS SHOWN TO BE

P.S.F. TABLE

1/4"-20 X 5/8" HEX BOLTS & NUTS OR

DOOR SIZE

DESIGN PRESSURE

TEST PRESSURE

1/4" X 3/4"LONG HEX HEAD SHEET METAL SCREWS.

WIDTH HEIGHT | POSITIVE

NEGATIVE

POSITIVE

NEGATIVE

8 —0"|8'—=0"|+37.8

—42.9

John E Scates PE
3121 FAIRGATE DR.

9'-0"|8"-0"|+37.8

—42.9

Carrollton, TX 75007

10°-0"|8"-0"|+37.8

—42.9

+56.7

—64.35

TX—PE 56308—F-2203
FL=PE-51737

TESTED PER ANSI/DASMA 108—05 (STATIC PRESSURE) & TAS 201/203-94 (IMPACT) PLUS

ANSI/DASMA 115—05 (IMPACT).

(972) 492-9500

ATTACHED WITH 3 FASTENERS (PLUS 1 WITH STRUT).

12 GAGE GALV. STEEL TOP BRACKET

20 GAGE END STILES

DETAIL B

TYP. LOWER STRUT mm_u.|/

USE TWO EXTRA SELF DRILLING
SCREWS THROUGH TOP AND
BOTTOM LEAF OF HINGE, END
STILE & RAIL AS SHOWN.
TYPICAL EACH END HINGE:

CENTER HINGES

11 STRUT

1) COLUMNS
CENTER STILES (3) COLUMNS

A

_-_I_‘_-_I_

i

3" 18GA WIDE
(SEE DETALL A)
LOCK OR

DRAWBAR
Q-uﬂm)._.oml/
REQUIRED

SEE DETAIL C

11 STRUT:

3" 18CA WIDE
(SEE DETAIL A)
LOCK OR
DRAWEBAR

OPERATOR
REQUIRED

SEE DETAIL C

Pt —t

——

QPTIONAL
LONG PANEL
EMBOSSES

mv
5 SECTIONS

8 &9 Am_zo_.m CAR) |‘_

Omz.:m_NI_ZOmAN
CENTER STILES (4) C

—*
=

I

]

|

]

S

D=

_I| 10" (SINGLE CAR)

2" STEEL ROLLERS

10 BALL LONG STEM

TYP. UPPER STRUT mm_u.\

DETAIL C

LOCKING COLLAR
1/2" FROM HINGE

Lo

-]

FL 15080

W winDsor DOOR

P.0. BOX 83915
LITTLE ROCK, AR
72219-8915
(501) 562-1872

MODELS:

/730/735/724/750/755/426

Professional Engineer’s seal

provided only for verification of
windload construction details.

12/15/11

NEW LOGO/ENG. STAMP

+

TOLERANCE

FRAC.t 1/64”
DEC. £ .015
ANG.

PART NAME:

WINDLOAD RESIDENTIAL PAN DOORS
W3 C & Wb B

8 X 8 9 X 8,

10 X 8

NEXT LEVEL

DATE:
6,/09/10

DWG. NO.
989-B-096

DETERMINATION OF SUITABILITY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.

DATE

CHANGE

SCALE
NONE

PLOT SCALE

D_wfwm<

SHT 3 OF 4




CENTER HINGES (3) COLUMNS
CENTER STILES (7) COLUMNS

OPTIONAL LONG
PANEL EMBOSS

13 GAGE MIN. GALV. STEEL "
TRACK SPLICE OR FLAG BRACKET. 2" STEEL ROLLER WITH

FASTEN TO WOOD JAMB WITH 7/16" DIA. LONG STEM.
y 5/16° X 1-1/2" LAG SCREWS TIRE: STEEL 10 BALL. 11_STRUT
' WITH WASHERS. 3" 186A WIDE

(SEE DETALL A)

1/4” X_1/2" LONG 12 GAGE GALV. STEEL TOP BRACKET
CARRIAGE ‘BOLT & NUT | F WITH 14 GAGE ROLLER HOLDER
2103 GAGE GALV. STEEL ; WITH 4 FASTENERS

VERTICAL TRACK ~1 SEE DETAIL D
SEE DETAL E

(4) SELF TAPPING i STRUT JUST BELOW
» SCREWS _ TOP BRACKET.

REQUIRED

-

_Um._|>__l ) SEE DETAIL C

HINGES ATTAGHED WITH (6)
SCREWS, TYP. (SEE DETAL G). : : : : : : pd

13GA. END CAP —20 GAGE END STILES

_' 1.25 CENTER HINGES (3) COLUNMNS

1
. — = CENTER STILES (7 coLumns  /~ JERONAE o
A . EMBOSSES
3 . 11_STRUT ; j ;
. 3" 18CA WIDE
, (SEE DETAIL A) " ) 1 2 7 : .. 3

—— 2.75" l_
DETAIL A
3" 1BGA WIDE STRUT Y DETAIL B : “ : DRAWEAR
=== 2 RERTOR
STRUT ON UPPER PART

OF SECTION ON HINGE SEE DETALL C
LEAF. (SEE DETALL C).

TYP. LOWER STRUT mm_u.|/

DETAIL E USE TWO EXTRA SELF DRILLING 16" (DOUBLE CAR)
— p SCREWS THROUGH TOP AND
TRACK JAMB BRACKET BOTTOM LEAF OF HINGE, END
[6 BRACKETS PER SIDE - STRUT ON LOWER STILE & RAIL AS SHOWN.

L PART OF SECTION TYPICAL EACH END HINGE:
20 GAGE END STILES — FASTENED ABOVE HINGE LEAF.

WITH TOG-L—-LOCS TO PANEL. : (SEE DETAL <).

USE END CAP OVER END STILES.

(SEE. DETAL B) A | GALVANIZED STEEL STRUT. " __—
STOP MOLDING NALED EVERY 6 RRRRRRRER ATTACHED WITH 1/4" X 3/4" 20 STEEL ROLLERS—

6—D TYPE NAIL MIN. LONG HEX HEAD SELF
. : DRILLING SCREWS.
: (2 PER VERTICAL STILE)
19 1/4" : TYP. UPPER STRUT REF.

\ \ ]
_ S P e
1—3/8" POLYSTYRENE INSULATION
PANEL GALV AND : LOCKING COLLAR
PREPAINTED STEEL d OPTIONAL FOR MODEL 730, DETAIL C 1/2" FROM HINGE

14 o>o,m GALV. STEEL CENTER HINGE 20 GAGE GALV mqmmm CENTER STILE 25 GAGE M.
ATTACHED WITH 4 FASTENERS. ATTACHED WITH TOG—L—LOCS OR RIVETS. ] STRUT MOUNTED IN GENTER OF SECTION FL 15080

13 GAGE GALV. STEEL TRACK BRACKETS. SEE AHOVE

FOR SPACING. FASTEN TO WOQOD JAMBS WITH 5/18" X 1-1/2° STRUT QVER BOTTOM BRACKET.
LAG SCREWS & WASHERS. SEE DETAIL E. B

PREPARATION OF JAMBS BY OTHERS. SEE WINDSOR I 13 GAGE GALV. STEEL BOTTOM BRACKET
DWG. 99—-A-061 FOR MORE INFO. ATTACHED WITH 3 FASTENERS (PLUS 1 WITH STRUT). P.O. BOX 8915

LITTLE ROCK, AR
SECTION B-—B SECTION A S!IUMQN DOOR | /2210-3015
- . (501) 562-1872

ALL NON-DESCRIPTNVE FASTENERS SHOWN TO BE
1/47-20 X 5/8” HEX BOLTS & NUTS OR

P.S.F. TABLE 1/4” X 3/4" LONG HEX HEAD SHEET METAL SCREWS. MODELS:
DOOR_SIZE DESIGN PRESSURE | TEST PRESSURE :

WIDTH | HEIGHT | POSITIVE | NEGATIVE | POSITIVE NEGATIVE V u O V u rrlu\ﬂ N Au\ﬂ w O \V WIuWIu\A.N mw

v | ot ) John E Scates PE

18°—0"ls'=0"l+30.8 -37.66| +46.2 |-56.49 Carrollton, TX 75007 WINDLOAD RESIDENTIAL PAN DOORS
e TOLERANCE| W2 C & W4 B

(972) 492-9500 16 X 8, 18 X 3

N N o+ »
TESTED PER ANSI/DASMA 108-05 (STATIC PRESSURE) & TAS 201/203-94 (INPACT) PLUS |Professional Engineer's seal m_mwﬁ.u H&mm NEXT LEVEL DATE: DWG. NO.

ANSI/DASMA 11505 (IMPACT). provided only for verification of ANG. + 1 m\O@\‘_O

windload construction details. =
_M\Am\‘_‘_ NEW _uooo\_mzo. STAMP SCALE PLOT SCALE DRN. BY 90—-B—086

DATE CHANGE NONE BNB SHT 4 of 4

DETERMINATION OF SUITABILTY FOR SPECIFIC SITES IS THE RESPONSIBILITY OF OTHERS.




